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A clock gains 15 minutes per day. If it is set right
at 12 noon, the time it shows at 4 AM is :

T I TS o 15 e @ &1 9wt 21 4t 3§ Suet 12
o el e Lo AT ST 8, d Wq: 4 I 98 I gAY

et ?
(a) 4:20 AM (b)4:30 AM
(¢) 4: 02 AM (d)4:10 AM

A home theatre set is Rs. 4950. If two successive
discounts of 20% and 15% are given, then its
selling price is :

T 21 et ¥ To 4950 FH 21 AT 3T W 20% 3N 15%
F < HHR T < AT A ST R T FA BI?

(a) Rs. 3366 (b) Rs. 6633

(c) Rs. 3636 (d) Rs. 6363

If 15% of x is three times of 10% of y, then x : y =
IfE x 1 15%, y & 10% FHT T &, & x : y FEF TR
gr?

(a) 1:2 b)2:1 ()3:2 (d2:3

A bookseller bought 500 text books for Rs.

20,000. he wanted to sell them at a profit so that

he get 50 books free. At what profit percent

should he sell them?

foredt geas fashal 4 500 WIZF TES Fo 20000 F @I

IE 3¢ UH A9 T =T =6 ¢ i 39 50 Gk e

TS| 3G foha FfTeId oM T STO g sl =1MeT ?

(a) 10 (b) 20 (c). 15 (d) 10.5

20% of a man’s salary is paid as rent, 60% are his

living expenses and 10% are his savings. If he

spends remaining Rs. 30 on the education of his

children, find his salary

foreit =aferd % I 1 20%. 9T fHUT R T BT &, 60%

T S A9 W @ BT § 3R 10% W Fi 98 S el

R A a8 I Fo 30 @i H RN W @ W, oA ITH

e foal &

(a) 300 (b) 900 (c) 3000  (d) 9000

A gun is fired at a distance of 6.64 km away from

Ram. He hears the sound 20 seconds later. Then

the speed of sound is :

% 9% TH ¥ 6.64 o # gt ¥ gl S &1 T 20

gﬁgmwﬁw(wﬁ)wél 39 &t i Tfq F
?

(a) 664 m/s (b) 664 km/s

(c) 332 m/s (d) 332 km/s

The simple interest on Rs. 2000 for 2 years at Rs.

75 per thousand per annum will be

10.

11.

12.

13.

14.

15.

Fo 2000 W Fo 75 Hfd TR A1 X W 2 &Y FHl HIERT
TS 47 B ?

(a) Rs. 150 (b) Rs. 300 (c) Rs. 600 (d) Rs. 400
Ifx:1+\/§+\/§,thenthevalueofx2—2x—4is
& x =142+ V3 &, A 22— 2 — 4 & HH FaC?

(a) V6 (b) 243 ©3V2 (d2V6
If, ((f/:_;)) = %, then the value of (a - b) is

qﬁq’%=%ﬁ?ﬁ(a—b)mnﬁw@m
a

(a) 1 (b) O (c)-1 (d) 2

If AABCis an equilateral triangle of side 16 cm,
then the length of altitude is

A AABC 16 Hto ST AT FwaTg BT &1, a BT
EEIHERIY

(a) 23em (b)) 4¥8em  (¢)8V3cem (d) 5V3 em

O is the circumcentre of AABC. If AO = 8cm,
then the length of BO is

AABC @1 O &= 21 a5 A0 = 8 Tito &1, d@ BO &
TS STy ?

(@) 12cm  (b)3cm (c)6ecm  (d) 8cm

Givne that tan® + 15°) = V3. Then the value of 6
is?

T8 T U % tan(0+ 15°) = /3, @ 6 H HH TG ?
(a) 15° (b) 75° (c) 45° (d) 65°

The least number of square tiles of side 41 cms
required to pave the celling of a room of size 15
cm long and 9 m 2 cm broad is :

15 WX 17 Yotio @M 3R 9 HieX 2 HoHio NS FR &I
B T & AT 41 HoTHio Feth ATl =AY fohaHT aHR
TSl i STEATIRAT BT 2

(a) 902 (b) 656 (c) 738 (d) 814

The average of fruits offered in a temple in a
week was 75. The average of fruits offered in six
days excluding Tuesday was 72. How many
fruits were offered on Tuesday?

foreht Afex H T T # S 75 el QT T HeaR
N BIg I 6 el & 39 72 W TQT MY HeER
fe7 foraa wat =emT TU?
(a) 90 (b) 93

-1 -1
?y?’

(c) 72 (d) 92

11
If a=x3y3 +x then axy-8axy-1 is

equal to
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16.

17.

18.

19.

20.

21.

1 1 -1 -1

T a=x3y3 +x 3y 3, & @ a3xy-3axy-1 fFEH
R
(a) y2x (b)xzy (c)xzy2 (d)o
If x+l = 5, then the value of 6x is

x x2+x+1
Ax+losd, % ue geER?

X xZ4x+1
(a) 1 (b) 2 (c) 3 (d) 4

If a>b>0, AB=a-b e¢m, BC = 2J/ab c¢m, then
ZABC is

IC a>b>0,AB=a-b T, BC = 2J/ab Tio &, @
ZABC 1 W 941 g7

(a) 45° (b) 60° (c) 90° (d) 120°

PR is a tangent to a circle with centre O and
radius 4 cm at point Q. If Z/POR = 90°, OR = 5cm
and OP = 20/3 cm, then the length of PR is :
PR,0 %= 911 3q % wquf @1 @ 3R @ fag W fi=n 4
Foio 21 9T LPOR = 90°,0R = 5 ¥ 3R OP = 20/3
Totio & d PR F TTHIE T ?

(a) 3cm (b) 16 cm () 23 cm  (d) 25 cm

3 3 3
From a pont, 40 m apart from the foot of a tower,
the angle of elevation of its top is 60°. The height

of the tower is
fordl TR & TR ¥ 40 HeX & g W, T fog ¥, TR
& TS AT N SHET HT 60° B HAR H HaAE Ty ?

(a) % m (b) 403 m
(c) 404/3m (d) 40v2 m

The radius of a sphere and hemisphere are
same. The ratio of their total surface area is :
foFelt TTieteh 3R ST i e Th §9H 81 39 Fol TS
% &l HI ST ST 2

(a) 3:1 b)2:1 (¢)3:2 (d)4:3

Two equal arcs of two circles subtend angle of
60° and 75° at the centre. The ratio of the radii of
the two circles is

& gl H & IER AT, FE A 60° W 75° % HOT
TR FIA @1 QAT gait i FASAsi F U T G
(a) 5/4 (b) 3/2 (c) 4/5 (d) 2/3

Study the following graph carefully and answer the questions.

aiforel

22.

23.

24.

25.

70
8§ 60
E 50

40
2 30

E 20
10

0"A B CDE F

60
55

45
30

25
20

Which state has the maximum percentage of
electrified villages?

fore Toar # Afershad faera e & farel &2

(a) B (b) C (0D (dF

If the Central Government desires to give aid
for speedy electrification starting from states
with least electrification, which state will get
fourth rank in order of priority?

I F% FEHR ol § forstelt & & T Feradr 31 = 31
T8 Tl & H ool & fastell ogel 8,1 stk o
FH H A9 TER W FH-9 T5F G

(a) F (b) C (0 E (d)B

How many states have at least 60% or more
electrified villages?

fora TS UY & TS &0 § %A 60% a1 31 T § fastelt
(a) Five (b) Three (d) Two

Which state has twice the percentage of villages
electrified in comparison to state D?

fore TS H D UST & I H foStelt o G A wfaera
82
(a) A

(¢) Four

(b) E ©F (dC
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a =20%, b=15%
20 x 15)
100 |
=(20415-3%
=32%
HHT“OR@E?IWW(M ) =100 unit
Y2 = 32% = 32 unit

%

FATL =(20+15—

— ANSWER KEY
1. (d) 2. (a) 3. (b) 4. (a) 5. (a) 6. (c) 7. (b) 8. (d) 9. (b)  10. (c)
11. (d) 12. (¢)  13.(d) 14. (b) 15. (c) 16. (a) 17. (c) 18. (d) 19. ()  20. (d)
21. (a) 22.(b)  23. (a) 24. (b) 25. (d)
1. =tagd ! fashago S, = 100 - 32 = 68unit
24 H H A B A 5T ! 100 unit = 4950
AR Aama e =2 fire | 1unit = 2990
24 | 100
12 &S SIUeX W 4 991 W d% i 68unit=4950><68
= 16 si% : 100
. 16T A AAME= 2 >< 16 L \ ) = 3366 %o Ans.
'3 5= 2 10% = —
= 10 ﬁqqz ! 20 10
T | AT.Q. (FHER)—
S 4 9 T gR e e gy : xH115% = 3% (yH10%)
=4:00 AM + 10 mints i xxizgx(yxi\
=4:10AM Ans. ! 20 10
2. First Method : i 3x 3y
20% = L, 15% = 2 | 20 10
"T85 07 20 ; 3 _ 20
siferd g (M) EERE TG i 3y ;0
5 4 ! r_z2 Ans.
20 17 ! y 1
100 68 | 4. wuw fafer
100 unit = 4950 | 500 &I T HAHT(C ) = 2000 To
.. 4950 | 20000
lunit = —> > 1 TS RIRHIE (C ) =
uni 100 | ( p) 200
68 unit = 2290 , 68 ! = 40 o
41;)500 i 50 TRH BT C,y = 50 x 40 = 2000 Fo
=3 X 68 i th{aﬁsﬁwq@ﬂﬁ & @ g,
99 i AT(P) = 2000 To
= }68 i P% (M%) = — ) 100%
: AT (Cp)
= (100 - 1) x 34 | % = o000~ 100
= 3400 - 34 ! L0,
= 3366% Ans. ! 0
° > P% = 10% Ans.
Second Method : !
afe | Tedta fafer .
JIT T = a% : . ‘ .
T : - TRl T % IST T B, - T T H A H TN TR h
=~ T axb) | SER W S S ST HeRd B
Fige = (‘H b- 100 | i HAA(C,y) = 500 feherrel

A (P) = 50 fohare

P% = = x100%
Cp

20 % 100%
500

P% = 10%
S. HMET Afed &1 aa7 (3MF) = 100 unit
fFTwEd = 20% = 20 unit

Ans.
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SEA AR @ = 60% = 60 unit
a<d = 10% = 10 unit
3 = e W wd
=100-(20+60+10)
=100-90
=10 unit
10unit = 30
lunit =3
100 unit = 3x 100
=300%o0 Ans.
T (D) = 6.64 km.
=6.64 x 1000 mtr
= 6640 mtr
1km = 1000mtr
FHA(t) = 20sec
T

RER
_ 6640 mtr

20 sec

=i = 332mtr/sec Ans.
oW fafer .

AT (P) = 2000 %o

100
2000 x7.5% 2
- 100
SI =300%o Ans.
Teeta fafar .
a9 (P) = 100 unit
R = L2210 75
1000 100
qHA(t) = 29
T A —
el q&AEH (P) = 100 unit,
T, FosAS (S]) = rx ¢
SI=7.5%2
= 15 unit
100 unit = 2000 ¥o
lunit = 20 %o
15unit = 20 x 15
Tlo &AM = 300%F0
x=1+/2+43
x2 - -4=7
(a+b+0)? =a? +b2 +¢2 + 2ab+ 2bc + 2ca
1+42+43)% =17+ (2)* + (3)?
+2x1xy242x/2x+/3
+2x+/3x1
=6+ 2V2+ 26 + 2V3

o4

Igl

Ans.

10.

11.

2 = 2(1+ /2 ++/3)

=2+ 2J2+ 23
x2 -2 -4=6+2J2+2J6+2/3-2(1+2
+/3) -4
=64+2/2+2V6+2J3-2-2/2
234
= 2J6 Ans.
a+b 2
Jab 1
a-b="7?
oy fafer :
a+b 2
Jab 1
a+b=2Jab
AT SR o T W—

(@a+b)? =(2Jab)?
a®+b% +2ab = 4ab

a?402-2ab=0 {(a-b?2=a®+b2%- 2

(@-b2=0
(a-b)=0
a=>b
a-b=a-a=0 Ans.
fadia fafa :
Put the value, get the answer approach
a+b _2
Jab 1
Put a:b:l
a-b=1-1=0 Ans.
ST (a) = 16 cm.
N |
16 16 I
Be—16——> C
W@Aﬁﬁrg(ngxw
:@xw
2
= 8./39tito Ans.
A
B €
T 0 — W=
AO=0B=0C=R
= IRga &t =
T S §—

A% ARhs § ek 9t st ot wige it forea o sreR 2iefl 21
AO=0B=0C =R
AO = 8 &io

BO = 83Tto Ans.
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12. tan(®+15°)=+/3 i 16. x+l:5
tan(® + 15°) = tan60° i x
0+15° = 60° : 6x  _  6x
0 = 45° i xZt+x+1 ( 1)
! x{x+14
13. W & Ao (I) = 15 Hto 17 Wifto : x !
= 15x 100 + 17 Tfto ! -_ 6 __ 6
- 15178F0  {lmtr = 100 Fiiq} ! i1+l xalia
FH F ASE (b) = 9 mtr 2 Tfto i 6 6 x
=902 Tfo i :g;—l:g: Ans.
IR i D T AABA(A) = [ x bHH 2o i
9 1 17. a>b>0
= 1517 x 902 |t %o ! AB = (a - b) &fto
FHR <5 I THersh (S1) = 41 HHlo i BC = 9ab Sfto
WWW%" :H\_rﬂzz i LABC:7 ¢
o e | <6 v S option, 1 wer A Fe ST
AT = ——— i 37e options satisfy %A it HIRE HL,
R H &o i AB = (a - b) Tfto
_ 1517 %902 ! BC = 2Jab Tto
S L Let ZABC = 90°
=37 % 22 ! C
[22 Y G H 11 | 0N HA ST |
=74 x11 !
= 74%(104 1) !
=740 + 74 i B A
- 814. | then TrEYTIRE WA &
14. T TWE (7 ) ¥ g AC =AB? + BC?
%ﬁ;ﬁ%ﬁ;;gﬂ = (@~ )% +(2Jab)?
AR 1 BreaR I 6 & & i =Va? + b2 - 2ab + 4ab
Frd = 72 i =vVa? + b2+ 2ab
6 T H =g A T = 72x 6 ; = Ja+b)?
HITAIR 1 ¥1¢ el = HIE | *I¢ el — HIelaR b1 =g | AC —ath
i Now Let a=4
! b=1
—75x7-T72x6 | e s
=(72+3)x7—-T72x6 i AB -3
=T72%xT7T+21-72%x6 i BC = 24 = 4
= T2xT—-72x6+21 i AB BC CA
- -2l i 3 4 5 - Triplate (LZABC = 90°)
y72+21=93 i ZABC =90° (option 3)
15. 1 1 | 18.
= (13 :
a=|(xy)3 +(— . a
xy | i NE o 5
| P R
a® :xy+i+3a i Q
xy ; voy faf-
@ —3a =xy+ L | APOR — W& A(LPOR = 90°) (given)
xy . i TEATIRY THI—
xy(a® — 3a) :xy(“i | (PO)2+éOR)2 = (PR)?
Xy i | 20) 2 9
agxy—3axy=x2y2+1 i (_1 +6% = (PR)

a3xy—3axy— 1= x2y2
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19.

20.

@+25:
9

625

(PR)2

(PR)2

625 .25,
9 3

PR.

et fafa-

APOR — |9&HITT A

. A I ST Triplate SARAR
(o)

OR PR - Triplate

5

PO
20

15 25 — Triplate
ol

@it =l 3 T 9 R IY

Tedta fafa-

_A60°

Be—— 10 ——>C

AB
90°

BC  AC
30°  60°
1 : \/§ 2
d {
40 40+/3 HeX (mtr)

!
AR T Fo (60° & THA)

Clw;

FA TS 4nr? : 3nr2,

4:3
21. _ 9
R
1 .
Wm%(maﬂwﬁ)
0ol
r
B _n
0y 1y
Or n_Y%
rge 8
n 15 5
60 4
rn:ry =514 Ans.
~ 22-25
SSC &t gien # Tqg Uy era faan & 91, SSC & I«
¥ IMER U IE U9 gl femanm T B -
et wfavra foan T ?
(T wfera fastet TEt agem @1 ?)
T faaefi Tugem At fastelt uge Ao =
100 ﬁ;g"rwu@%
A 25 75
B 45 55
C 20 80
D 60 40
E 55 45
F 30 70
22. 3y 9 Tasieht = Tiig C = 80%
23. fostelt 7 uge et WA
= D>E>B>F
i
4™ mrofirrar (4t priority)
74. 60% 1 3TN Afaw g W fasielt ugen aret WA
F(70), A(75), C(80) 3 T (States)
75. D ¥ fawtet g = 40%

C ¥ fasieht g = 80%
Le., C=2xD

L.e., (c) state
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